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—0.4x + 3 =0,5x
7,3a =1,6a
6y—12=5y+4 ¥




'/
ATy Mg MR

T ‘l)}”dx =




OlIPOCAI.
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5x = 3 23 -x=7
x:8=0,8 28 -5x =3
3x-17=4 11x - 42 = 2

8,7-x=0 3x + 14 = 133




) 2x=18 —x
) Tx+3=30-2x
~; 5 4 -15x=03x—-3,6 )




Y%GHHK No 1143 (/17 4); No 1146 (1 ’Z), Ne 1147 .
Pa60qa>1 Terpap Mo 3- No 513 ",,r.' Y

a) X T 32 + 14 X : :"1':.':":"‘ o gl :.‘ ey
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p) 4y +16 =282y i
r)2(4t+5) 3(t+6)-9t+3
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CAMOCTOSTEJILHASI PABOTA \7/’

il g BAPUAHT 2
rowrit ypdgHeHn; Pewumsb ypagHeHUs: &
e 1) 75+c =459

2) 453-y=219 2) n-93=148
- 3) (246 +a)-42=643 3) 318-(m-8)=27
alidume KopeHb ypaeHeHUs:Halidume KOPeHb ypasHeHUsI:\

47— 1,1x = 0,5x — 3,3 5,8-1,6x=0,3x—1,8




OTBETbHI

BAPUAHT 1
1) x=136

BAPUAHT 2
1) ¢ =384
2) n=241
3) m=299
4) x=4
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